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QUESTION 1

A network has an ABR that connects area 0 and 1. A network engineer configures a summarized route for area 0. The
ABR is a designated router (DR) for the segment it uses to connect to area 1. 

Which LSA type is assigned to this route when the summarized route is advertised into area 1 by the ABR? 

A. LSA1 

B. LSA4 

C. LSA3 

D. LSA2 

Correct Answer: B 

 

QUESTION 2

How is voice traffic prioritized correctly on AOS-CX switches? 

A. By defining device profiles with QOS settings 

B. By placing it in the strict priority queue 

C. By implementing voice VLANs 

D. By implementing weighted fair queueing (WFQ) 

Correct Answer: B 

 

QUESTION 3

An administrator implements interim accounting for guest users so that ClearPass can track the amount of bandwidth
that guests upload and download. Guests that abuse bandwidth consumption should be disconnected from the network.
The administrator configures the following on the AOS-CX access switches: 

After performing this configuration, the administrator notices that guest users that have exceeded the guest bandwidth
limit are not being disconnected. Upon further investigation, Access Tracker in ClearPass indicates a disconnect CoA
message is being sent to the AOS-CX switch. 

What is causing this issue? 
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A. RADIUS change of authorization is not enabled on the AOS-CX switch. 

B. Bandwidth consumption of the guests is not being reported by the AOS-CX switch. 

C. NTP is not configured on the AOS-CX switch. 

D. There is a time discrepancy between the AOS-CX switch and ClearPass. 

Correct Answer: A 

 

QUESTION 4

Examine the following ACL rule policies: 

Permit traffic from 10.2.2.1 through 10.2.2.30 to anywhere 

Permit traffic from 10.2.2.40 through 10.2.2.55 to anywhere 

Deny all others 

Based on this policy, place the following ACL rule statements in the correct order to accomplish the above filtering
policy. 

A. deny ip 10.2.2.31 255.255.255.255 any permit ip 10.2.2.40 255.255.255.248 any permit ip 10.2.2.48 255.255.255.248
any deny ip 10.2.2.32 255.255.255.224 any permit ip 10.2.2.0 255.255.255.192 any 

B. permit ip 10.2.2.40 255.255.255.248 any permit ip 10.2.2.48 255.255.255.248 any permit ip 10.2.2.0
255.255.255.192 any deny ip 10.2.2.31 255.255.255.255 any deny ip 10.2.2.32 255.255.255.224 any 

C. deny ip 10.2.2.31 255.255.255.255 any deny ip 10.2.2.32 255.255.255.224 any permit ip 10.2.2.40 255.255.255.248
any 

permit ip 10.2.2.48 255.255.255.248 any 

permit ip 10.2.2.0 255.255.255.192 any 

D. deny ip 10.2.2.31 255.255.255.255 any permit ip 10.2.2.40 255.255.255.248 any deny ip 10.2.2.32 255.255.255.224
any permit ip 10.2.2.48 255.255.255.248 any permit ip 10.2.2.0 255.255.255.192 any 

Correct Answer: A 

 

 

QUESTION 5

An administrator is managing a network comprised of AOS-CX switches deployed at the aggregation layer. The
switches are paired in a VSX stack and run the OSPF routing protocol. The administrator is concerned about how long it
takes for OSPF to converge when one of the VSX switches has to reboot. 

What should the administrator to do speed up the OSPF convergence of the switch that is rebooting? 

A. Change the VSXISL link from an OSPF broadcast link point-to-point. 
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B. Implement graceful restart on the VSX switches and their neighboring OSPF switches. 

C. Decrease the VSX initial synchronization timer on the two VSX switches. 

D. Define non-backbone areas on the VSX switches as totally stubby areas. 

Correct Answer: B 
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